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NoTE:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
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‘First question is compulsory.
Attempt three questions in all.
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1. Write essays of about 500 words each on any ftwo of

the following.discussing the role of the following in the
decline of Buddhism:

(i) Bhakti Movement
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(i) Sufism

(zii) Moral Degeneracy |

(fv) Sectarianism. |
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. “The inherent contradictions in the very nature of

Indian- Buddhism, ie., its urban character and lack of
mass-base coupled with its failure to cultivate loyalty

among: its fickle-minded lay supporters, hold real key.

to the mystery of its decline.” Do you agree? Why?
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. “Muslim attacks and corrupt samgha were not

responsible for the decline of Buddhism in India.” Do
you agree? Why?
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‘Do you think the policies of Pusyamitra S'ur']ga and

Sasanka are responsibie for the decline of Buddhism in
India?
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. “Friendly embrace of -Brzhmanism was primarily

responsible for the decline of Indian Buddhism in the
land of its origin.” Do you agree? Why?
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